F] S HBO N E (;ﬂ%‘?@ INSTALLATION INSTRUCTIONS

OFFROAD

PART Ne. FB23010

7 i Jeep® JK Wrangler
JK Rubicon Rock Sliders - 2DR

VIDEO AVAILABLE

REQUIRED TOOLS KIT CONTAINS QTy
Ratchet wrench M6 Clip-On Barrel Nut 8
18mm Socket M6 Hex Head Bolt 8
10mm Socket M6 Flat Washer 8
M6 Lock Washer 8

2301000

950 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



F] SH BO N E§‘(§%) INSTALLATION INSTRUCTIONS

OFFROAD PART Ne. FB23010

X%
77 it Jeep® JK Wrangler
JK Rubicon Rock Sliders - 2DR

1) REMOVE FACTORY RAILS/GUARDS Using the M6 hardware, bolt your slider to the Jeep

Remove factory equipment if equipped. by inserting the hardware first through your Jeep’s
body and into the barrel nut.

2) INSTALL ROCK SLIDERS
Using an 18mm socket and ratchet, remove the
body mount bolts. These bolts have a tendency to
stop unthreading about halfway out. Simply apply
some force to the large washer with your hand or a
large open-ended wrench while turning the bolt to
get it to release from the Jeep.

5) TIGHTEN ALL HARDWARE.

6) REPEAT INSTALLATION PROCESS ON OTHER SIDE

3) PREP YOUR SLIDER FOR INSTALLATION 7) ENJOY YOUR FISHBONE OFFROAD ROCK SLIDERS!
Install the supplied barrel nuts to your sliders at

each of the four (4) slotted holes (per side). Ensure
the barrel nuts are installed as shown below.

4) INSTALL YOUR ROCK SLIDER
Lift your new rock sliders up to the Jeep. Insert your
factory body mount bolts and tighten them enough
to hold the slider to the body.

2301000

950 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



